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Question Number : 1 Question Id : 8247248009 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion(A): Rumi could make two-word utterances at 18 months while Pooja did so at 24 months

so Pooja is definitely developmental delayed.

Reason(R ): Developmental milestones accurately predict the exact age for achievement of set

goals for children.

Choose the correct option.

Options :

1. Both (A) and ( R) are true and (R) is the correct explanation of (A).

2. Both (A) and ( R) are true but (R) is not the correct explanation of (A).
3. (A) is true but ( R) is false.

4. Both (A) and ( R) are false.

Question Number : 1 Question Id : 8247248009 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 8247248010 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Middle childhood refers to the period from-
Options:

1. Birth to 5 years

2. Birth to 8 years

3.6to 11 years

4. 11 years and above

Question Number : 2 Question Id : 8247248010 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 8247248011 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A five-year-old child can-

Options :

1. hypothesise possible causes and their effects.

2. design complex experiments to scientifically investigate phenomena.
3. do symbolic and abstract reasoning.

4. initiate goal directed behavior and engage in symbolic play.

Question Number : 3 Question Id : 8247248011 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 8247248012 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
is responsible for primary socialization of children.
Options :
1. School
2. Religious institutions
3. Mass media

4. Family

Question Number : 4 Question Id : 8247248012 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 8247248013 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Piagetion theory, the process in which a child transforms and modifies her schema to make

sense of new experience is called-
Options :

1. assimilation

2. accomodation

3. conservation

4. centration

Question Number : 5 Question Id : 8247248013 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 8247248014 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Afsa holds up a potato chip and says 'butterfly'. According to Jean Piaget, this kind of symbolic

thought is a characteristic of-



Options :

1. sensori-motor stage

2. pre-operational stage

3. concrete operational stage

4. formal operational stage

Question Number : 6 Question Id : 8247248014 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 8247248015 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky considers which factors to be important in influencing the cognitive development of

children?

(i) Culture

(i) Language



(iii) Modification and building of schemas
(iv) Formation of stimulus-response connections

Choose the correct option.
Options :

1. (i), (ii)

2. (i), (iii)

3. (iii), (iv)

4. (ii), (iii)

Question Number : 7 Question Id : 8247248015 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 8247248016 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's socio-cultural theory emphasizes teaching-learning through-
Options :

1. rewards and punishment.

2. drill and recall.

3. peer interaction and scaffolding.

4. use of analogies and algorithms.

Question Number : 8 Question Id : 8247248016 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 8247248017 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a child-centered classroom, teachers-
Options :

1. do not have any role.



2. take a passive role.
3. create a collaborative classroom ethos to promote learning.

4. have the role of a dictator to instruct children.

Question Number : 9 Question Id : 8247248017 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 8247248018 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the reasoning that underlines the stage of 'Social Contract orientation' in Lawrrence

Kolhberg's theory of moral development.

Options :

1. Understanding of ideal reciprocity.

2. Rules are vital for ensuring societal order.

3. Laws and rules are flexible instuments for furthering human purposes.

4. Right action is defined by self-chosen ethical principles of conscience.



Question Number : 10 Question Id : 8247248018 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 8247248019 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Howard Gardner's theory of multiple intelligence, individuals high on intelligence can

engage in abstract reasoning easily and can manipulate symbols to solve problems.
Options :

1. creative

2. spatial

3. logico-mathematical

4. naturalistic

Question Number : 11 Question Id : 8247248019 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 8247248020 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Most classrooms in India are multi-lingual and this needs to be seenas_____ by the teacher.
Options:

1. a resource

2. an obstacle

3. a burden

4. a problem

Question Number : 12 Question Id : 8247248020 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 8247248021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher always asks boys to do tasks such as moving the furniture and girls to keep the class tidy

and decorated. This perception is not appropriate because this is an example of-
Options :

1. gender stereotype

2. gender identity

3. gender stability

4. gender equality

Question Number : 13 Question Id : 8247248021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 8247248022 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the context of assessment, National Education Policy 2020 proposes-
Options :

1. Testing of higher order skills such as analysis and critical thinking.

2. Recall based objective types tests.

3. Summative methods of assessment.

4. Learning-for-exams.

Question Number : 14 Question Id : 8247248022 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 8247248023 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In order to effectively address individual differences in her class, a teacher should-
Options:

1. recognize that differences are not deficits.

2. label and seggregate children based in academic abilities.

3. send children with physical and visual disabilities to special schools meant for them.

4, promote individualistic culture in the class to encourage competition.

Question Number : 15 Question Id : 8247248023 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 8247248024 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Inclusive Education requires:
Options:

1. Conductive learning environment
2. Labelling of students

3. Segregation of students



4, Strengthening of stereotypes

Question Number : 16 Question Id : 8247248024 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 8247248025 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students having Attention Deficit Hyperactivity Disorder (ADHAD) can be identified by challenges

they face in:

Options :

1. Comprehending the written text

2. Continuing on a given task for long

3. Perceiving and understanding situations

4. Sustaining sufficient energy levels

Question Number : 17 Question Id : 8247248025 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 8247248026 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Successful inclusion of students with learning difficulties in reading requires:
Options :

1. Compulsory learning of multiple language subjects

2. Reasonable exemptions from language subjects

3. Frequent use of punishment for students

4. Permanent segregation of these students

Question Number : 18 Question Id : 8247248026 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 8247248027 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Optimizing access to tools and assistive technologies wil help in inclusion of:
(i) students with loss of vision

(i) students with Attention Deficit Hyperactive Disorder

(iii) students with Celebral Palsy

(iv) students with extraordinary talent

Choose the correct option.
Options :

1. (i)

2. (ii), (iii)

3. (i), (ii), (iii)

4. (i), (i), (iii), (iv)

Question Number : 19 Question Id : 8247248027 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 8247248028 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of appropriate accomodation strategy for

inclusion of students with the specified disability?

Options:

1. Gifted: Give easy and simplified content

2. Autism: Keep changing the classroom arrangement very frequently
3. Dysgraphia: Assignment based on fine drawings

4. Speech impairment: Show patience and give ample time to respond

Question Number : 20 Question Id : 8247248028 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 8247248029 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Learning is effective when:

Options :

1. it is directed by external motivators.

2. it promotes competition.

3. the learning goals for students are framed solely by the teacher.

4. students are given opportunities to set their own learning goals.

Question Number : 21 Question Id : 8247248029 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 8247248030 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Constructivist approach of teaching-learning:
Options :

1. emphasizes passive reception of information.

2. encourages calculation of IQ scores of children.

3. looks at learning as a process of meaning-making.

4. focuses on the use of programmed instruction.

Question Number : 22 Question Id : 8247248030 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 8247248031 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 proposes a shift towards-
Options :

1. learning to learn

2. rote learning

3. increase in course content

4. standardization

Question Number : 23 Question Id : 8247248031 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 8247248032 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Application, analysis and synthesis are examples of-



Options :

1. higher-order thinking skills.
2. lower-order thinking skills.
3. declarative knowledge.

4. procedural knowledge.

Question Number : 24 Question Id : 8247248032 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 8247248033 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In order to address the 'alternative beliefs' carried by students; it is important to:
Options :

1. create the circumstances where students feel restricted to express their views.

2. deliver the content to be taught through teacher-centric pedagogies.

3. generate the situations where alternative beliefs carried by students can be expressed.

4. ignore the role of socio-cultural context of the students in learning process.



Question Number : 25 Question Id : 8247248033 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 8247248034 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following should be promoted by a teacher?
Options:

1. Approach-oriented mastery goals

2. Avoidance-oriented mastery goals

3. Approach-oriented performance goals

4. Avoidance-oriented performance goals

Question Number : 26 Question Id : 8247248034 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 8247248035 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should inculcate asenseof____among her learners.
Options :

1. belonging

2. exclusion

3. inferiority

4. alienation

Question Number : 27 Question Id : 8247248035 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 8247248036 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Teachers should ask questions that facilitates students to establish relationships

between what they are expected to learn and what they already know.
Reason (R ): Prior knowledge doesn't play any role in learning of new concepts.

Choose the correct option.

Options :

1. Both (A) and ( R) are true and (R) is the correct explanation of (A).

2. Both (A) and ( R) are true but (R) is not the correct explanation of (A).
3. (A) is true but ( R) is false.

4. Both (A) and ( R) are false.

Question Number : 28 Question Id : 8247248036 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 8247248037 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of a source of motivation and the type of

motivation?

Options :

1. Avoiding punishment-Intrinsic motivation
2. Cash Prize- Intrinsic motivation

3. Curiosity-Extrinsic motivation

4. Interest-Intrinsic motivation

Question Number : 29 Question Id : 8247248037 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 8247248038 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For effective learning to take place, what should be the starting point for instruction?
Options :

1. Fear of failure

2. Children's socio-cultural context

3. Reward for success

4. Sense of competition

Question Number : 30 Question Id : 8247248038 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724437
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Question Number : 31 Question Id : 8247248039 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aftrain started from New Delhi railway station at 3;15 pm on Tuesday and reached Mumbai central at 940 am on the
next day. What is the time taken by the train for the whole journey?

Options :

1. 17 hours 35 minutes
2. 17 hours 25 minutes
3. 18 hours 25 minutes

4. 19 hours 15 minutes

Question Number : 31 Question Id : 8247248039 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1 17523502
, 175225 e
3 185225 e

4 1972 1502

Question Number : 32 Question Id : 8247248040 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The distance from place A to place B is 8.7 cm on a map. If 1.5 cm on the map is equal to 2 km on the ground, then
what is the distance (in metres) between these two places?

Options :
1. 12300 metres

2. 11900 metres
3. 11600 metres

4. 10600 metres

Question Number : 32 Question Id : 8247248040 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. 10600 =27

Question Number : 33 Question Id : 8247248041 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a perfect cube?
Options :
1. 216

3. 666

4. 729

Question Number : 33 Question Id : 8247248041 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FeATcTiad = & F1=-91 UF U =4 & o
Options:
1. 216

N
LN
(i



3. 666

4 729

Question Number : 34 Question Id : 8247248042 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Growth chart of a plant is given below:

Day Height of the plant (in cm)
0 0

Sth 2.7

Lotk 6.2

Hpth 113

When did the plant grow the least?
Options :
1 5% to 10T day

, 10Mto 15% day
5 15Mto 20% day

4 0to 5t day

Question Number : 34 Question Id : 8247248042 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Gl U1l ST T (ecm )
0 0
sar 2.7
1037 6.2
[5ar 8.9
20T 11.3

Tter T SETE § e FH Ihg FE 530
Options :
1 5FF10T A

, 10FF 159

Question Number : 35 Question Id : 8247248043 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Gaurav travelled a distance of 20 km 237 m from station A to station B. He then travelled a distance of 32 km 355 m
from station B fo station C. After that, he travelled a distance of 43 km 458 m from station C to station D. Total distance
travelled by Gaurav is

Options:
1. 95 km 500 m

2. 96 km 150 m

3. 96 km 50 m



4. 95km250m

Question Number : 35 Question Id : 8247248043 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

rﬁa%z%amﬁémsamﬁaﬁzo km 237 m 77 1| T 36 9 B ® R C 7% #7132 km 355 mﬁﬁ
| 9 A, 1 9 C AR DA 43 k438 m T T | A g A AR A

Options :
1. 95 km 500 m
2 96 km 150 m

3. 96 km 50 m

4 95 km 250 m

Question Number : 36 Question Id : 8247248044 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct about factors and multiples?
Options:
1. 11 is a factor of 100

o 48 isa multiple of 3
3. 11 is a multiple of 110

4. 48 is a factor of 3



Question Number : 36 Question Id : 8247248044 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
UGS S 0TS 3 W1 F e § § HF-91 597 T8l 22
Options :

. 11,100 % U@ #
A8 3FHTIOS &
2. : 2
11, 110 T U= 0TS 2
3. 2

. 48, 3 T U UG 7

Question Number : 37 Question Id : 8247248045 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The number 222222 will be read as:
Options:

1. Twenty two thousands two hundred twenty two
o Twenty two lakhs twenty thousands two hundred twenty two
3. Two lakhs twenty two thousands two hundred twenty two

4. Twenty two lakhs twenty two thousands two hundred twenty two



Question Number : 37 Question Id : 8247248045 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TEAT 222222 T UG ST
Options :

| STEE BN 21 6 AT
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5 G TG 9159 TS a6 A
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Question Number : 38 Question Id : 8247248046 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What number should be added to the sum of 65376, 91091 and 35550 so that the resulting number is 2496377
Options :
1. 75260
2 57620

3. 52706

4. 72605

Question Number : 38 Question Id : 8247248046 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
65376, 91001, 3T 35550 3 I o T SArer 70 foh aformT Sem 249637 T8 29

Options :
1. 75260

5 57620
3. 52706

4. 72605

Question Number : 39 Question Id : 8247248047 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A right angle is formed by the hands of the clock. Which of the following time shows a right angle in the clock?
Options :
1. 4:30

Question Number : 39 Question Id : 8247248047 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T T 1 T T T T S A ) AR 5 8 - 9 O R e e 27

Options :



1 4:30

5 6:00

Question Number : 40 Question Id : 8247248048 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following is correct?

Options :

B o 3 ik e 2
1. 15 5 7 3
B el ta s
2. 15 7 5 2
T 2 g 8 o 3
3. 7 3 15 5
il A e
4. 7 5 3 15

Question Number : 40 Question Id : 8247248048 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FeATeAtEd o o -1 e 22

Options :

& 3 4 2
—<t<=-<=
1 15 5 7 3



Question Number : 41 Question Id : 8247248049 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a division question, the quotient is 4 times the divisor and remainder is one quarter of the divisor, If the remainder is
8, what will be the dividend?

Options :
1. 4096

5 5004
3. 4004

4 4104

Question Number : 41 Question Id : 8247248049 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T ST 74 5, OO, ST 1 4 T 2 0 S0, 6T 1 T e 2 7% 0 8 2, 7 7 1 2

Options :
1. 4096



5 5004

3. 4004

4 4104

Question Number : 42 Question Id : 8247248050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Vijaya and her friend took a loan of 242,000 to buy a boat. They paid back in equal monthly installment a total of
247040 in two years. How much did they pay back every month?

Options:
1.2 1750

N
H
]
¥ ]
L
o

3 %1960

4 %3920

Question Number : 42 Question Id : 8247248050 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tere i 3 o 7 242,000 37 5 T 719 GUIEH 3 (o0 7| 372 21 9% 0 0 S7Tes ot 247040
TR T3] e N feve T AOm A

Options :
1. T 1750

5 %2356



3. 21960

Question Number : 43 Question Id : 8247248051 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Naseema has only 25, 210 and 220 coins with her. The number of 5 coins is thrice that of 10 coins and number of 320
coins is half of that of Z10 coins. If she has 8 coins of 220, then how much amount does she have in total?

Options:
1. 3470

5> F560
3 3615

4 %495

Question Number : 43 Question Id : 8247248051 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 5 0 25, 310 90 20 % o 8] 35 oo v 10 3 oert o e o o 2 o 200 %
T 1 S 10 3 TR 1 S 1 et 2| 7 9 T 00 % § o 2, 71 9 W v e T )
Options :

1. 470

5 2560



53 2615

4. 2495

Question Number : 44 Question Id : 8247248052 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the pair of shapes that does not have any line of symmetry.
Options:

1. Isosceles triangle and parallelogram
5 Scalene triangle and parallelogram
3. Isosceles triangle and rhombus

4. Scalene friangle and rhombus

Question Number : 44 Question Id : 8247248052 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ST % 58 I 1 =i, Foeht 7 ot wmfi e 2 2

Options :




T e e

e
i

Question Number : 45 Question Id : 8247248053 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory :

Correct Marks : 1 Wrong Marks : 0

=

HHETHS
59

No

Following rate list was displayed on a shop:

Fruit Rate per kg
Apple 2120
Mango 84

Guava 280

Grapes 206
Oranges 200

1 1 ’
Renn bought 1 kg apples, 2 kg oranges, 250g grapes, 500g guava and 1 kg mangoes. How much did she pay

for all the above fruits?
Options :
1. 459

3. %498

4 %449

Question Number : 45 Question Id : 8247248053 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory :

Correct Marks : 1 Wrong Marks : 0

No
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LT T ke
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M 384
e 380
AT 296
T 390
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Options :
1. 459
5 %529

3. 2498

4. 449

Question Number : 46 Question Id : 8247248054 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is most appropriate example of context based mathematics teaching and learning?
Options :
1 Students participating in mathematics quiz being conducted in class.

5 Students discussing and analysing various grocery bills which they have got from home while working in groups.

3. Students are solving word problems given in the textbook.



Students are watching a video in the class and completing a given task by following the instructions explained in the
4, Video.

Question Number : 46 Question Id : 8247248054 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FATCATER 5 H 14-51 HEH ST TV (2140 T8 ST 261 Haiteres 9 SaTeT 27

Options :
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Question Number : 47 Question Id : 8247248055 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To solve 27%4, a student uses the following strategy:

27x4 — 30x4 — 120
3x4— =12
108

She says aloud the answer is 108.

Which of the following is most appropriate for the strategy used by the student?
Options :

1. The student has estimated the answer through this strategy



5 The student has used compensation strategies for multiplication

3. The student has arrived at the answer by hit and trial method

4. It is an inappropriate algorithm to solve a problem on multiplication

Question Number : 47 Question Id : 8247248055 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

27x4 Tl A T o o0, ek D11 HEATAREs W 3/l S99 it 2:

27x4—30x4— 120
3x4— -12

108
TE IR § FeEAm & 5 I 108 2
FrAfeifas & & F9-91 ST g1 IU=T S 72 WHIT o @i U 27
Options :
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Question Number : 48 Question Id : 8247248056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework 2005, which of the following represents one of the recommendations to
improve mathematics teaching and learning.



Options :

1. Changing modes of assessment to examine students” mathematisation abilities rather than procedural knowledge.
5 Training teachers so that they can help students to perform better in Math Olympiads.
3. Encouraging students to practice from workbooks along with mathematics textbooks

4. Shifting focus to increase employability of youths to popularise mathematics.

Question Number : 48 Question Id : 8247248056 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 49 Question Id : 8247248057 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an appropriate reason for fear of mathematics?

Options :



1. Cumulative nature of mathematics.

> Symbolic language of mathematics.
3 Methods of assessment and language used in textbook.

4. Mathematical Inabilities of learners.

Question Number : 49 Question Id : 8247248057 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
foreTetfiae & & =9 TTT0Te 3 T 9 37 U= T AET 27

Options:

: TTToTe St S Wﬁr |
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Question Number : 50 Question Id : 8247248058 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A fraction can be used in which of the following ways?
a. Torepresent a part of a whole
b.  To visualize a point on a number line
c. Torepresent a part of a collection of objects
d.  To introduce a division problem.



Options :

1. (a), (b) and (c)

3 (a) and (d)

3. (c) and (d)

4. (a), (b) and (d)

Question Number : 50 Question Id : 8247248058 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

= =1 SugTT eAfeigs 2 § o JiTeR! & 21 §ehaT 27
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Options :

(a), (b) 3 (c)

1

(a) 3R (d)

2

. (c) ey (d)

3

4 (), (b) 3T (d)

Question Number : 51 Question Id : 8247248059 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is the most appropriate example of a ‘constructivist” mathematics classroom?
Options :

1. Teacher is going to every student and helping him/her to use the algorithm to solve the problem.
5 Teacher is solving the question on blackboard.
3. Students are engaged in exploration while finding a solution fo a problem.

4. Students are reciting tables collectively in a rhythm.

Question Number : 51 Question Id : 8247248059 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT 5 H SHiH-91 U THATCHeE 10T 3hi el 31 AT ST IaTeT 27

Options :
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Question Number : 52 Question Id : 8247248060 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a process in Geometry?



Options :

1. Measurement

- Representation
3. Procedural fluency

4. Reasoning and proof

Question Number : 52 Question Id : 8247248060 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frtetgd o & -9 SaHTd § U5 TR 98t 27
Options :

1, H9T

z_ﬁ%—.w

5. TR TETE

4. dlraﬂ% Xl aﬂ-(ﬁuuﬁ'l

Question Number : 53 Question Id : 8247248061 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is NOT appropriate with regard to the nature of mathematics?
Options :

1. It is hierarchical in nature.



- Mathematical concepts are abstract in nature.

3. It is like science which is based on observation.

4 It reveals the hidden patterns.

Question Number : 53 Question Id : 8247248061 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TrATeARga 5 & HI9-|T U 0T 31 T % §aH F 39T 8L 27
Options :

1 TR T ﬁlgmmm 2
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Question Number : 54 Question Id : 8247248062 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the statements about mathematical games is/are correct?

(a) Mathematical games must be like open ended play.

(b)  Mathematical games provide non-didactic feedback to the child.

(c)  Mathematical games promote processes of anticipation and planning in child.

Options :

1 (b) and (c)



2 (a) and (c)
3 only (a)

4. (a) and (b)

Question Number : 54 Question Id : 8247248062 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
fAfeIiad FuAT § § HH-A1/E FIF 10T T 3 a1 § 987 27
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Options :

~(b) #F(c)

1

(a) 3R (c)

2.

3 m{a}

(a) 3T (b)

Question Number : 55 Question Id : 8247248063 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to National Curriculum Framework 2005, mathematics curriculum in primary classes should:
(a)  be coherent
(b)  be ambitious
(c)  focus on formal algorithms

Options :

1 (a) and (c)

3 Only (a)

3. (a) and (b)

4. Ounly (c)

Question Number : 55 Question Id : 8247248063 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS W R (2005) F SF Mo, 1At 3 v g BT =)
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Options :
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4 Fa (c)



Question Number : 56 Question Id : 8247248064 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most appropriate example of mathematical modelling?

Options :

1. Using a cartoon story in mathematics classroom.
o Calculating the area of rectangle by using the formula length x breadth.
3. Constructing a mathematical model for estimation of number of trees in a dense forest.

4 Using a concrete model to comprehend a mathematical concept.

Question Number : 56 Question Id : 8247248064 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

. TTOTA ST F ST AT FETHT T T AT

, TS < TETE T % I FIT SATFA 3 HTEA Fl IHeher Tl

; T 5 9 3 g AT HE 1 AT T o fefu TTiurdre et (Free) = Fmor s

=, [

wnﬁﬁﬂmwmm?%nng TE=T =57 SUIT )

4

Question Number : 57 Question Id : 8247248065 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is/are NOT appropriate for enhancing the mathematics learning in primary grade students?
(a)  Relate the concepts with their daily life experiences.

(b)  Focus on product rather than process.

(c)  Using teaching aids to teach abstract concepts.

Options:
1 (b) and (c)

5 Only (c)

3. Only (b)

4. (a) and (c)

Question Number : 57 Question Id : 8247248065 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 58 Question Id : 8247248066 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is more likely to enhance critical thinking among learners in mathematics?
Options :

1. List four whole numbers between 131 and 136.

2. Find the value of 23 X 15
3. What will be the length of rectangle if its area is 24 cm? and its breadth is 4 cm.

4. What will be the length and breadth of rectangle with perimeter 24 cm?

Question Number : 58 Question Id : 8247248066 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 59 Question Id : 8247248067 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

On seeing a samosa a child calls it as a triangle. According to Van Hieles theory of geometrical development, the child
is at leve] of geometric reasoning.

Options :

1. Visualisation

5 Relationships
3. Analysis

4. Deduction

Question Number : 59 Question Id : 8247248067 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 8247248068 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A primary class teacher asks the students to write “five thousand and thirty six™ in numerals. Majority of his students
wrote the answer as “536”.
Which of the following represents the most appropriate strategy to remediate this error?

Options :

1 Giving students ten similar problems to practice.
5 Asking students to write numbers from 5,000 to 5.100 and checking their answer.
3. Represent five thousand and thirty six on a number line with intervals of 1,000.

4. Revisiting the concept of place value of three digit and four digit numbers.

Question Number : 60 Question Id : 8247248068 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 8247248069 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The fruits/vegetables that were grown in India longagoare ______
Options:

1. Potato and Tomato

2. Cabbage and Mangoes

3. Mangoes and Bananas

4. Pea and Bananas

Question Number : 61 Question Id : 8247248069 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 62 Question Id : 8247248070 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Alex lives in Kerala. He is likely to grow which of the following in his court yard?
Options :

1. Coconut and Tapioca

2. Tapioca and Mustard

3. Coconut and Lotus

4. Mustard and Rice

Question Number : 62 Question Id : 8247248070 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TS 3 H 15T 2| 9 310 TR F AN °§ Herengd § o 34T ST 2

Options :
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Question Number : 63 Question Id : 8247248071 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Animals/Insects which find others of their own group by smell are:
Options:

1. Kite, Bats, Eagle

2. Silkworm, Ants, Flies

3. Ants, Bees, Silkworm

4. Bees, Bats, Dogs

Question Number : 63 Question Id : 8247248071 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 8247248072 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Shabana suggests her father to conserve peteroleum-based fuels to go from one place to another

and he agreed happily. He will prefer to go by
Options :

1. Car & Metro rail

2. Bus & Metro rail

3. Bicycle & Metro rail

4. Motorcycle & metro rail

Question Number : 64 Question Id : 8247248072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 8247248073 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Samar has to select food items which are NOT plant-based for a project. He will choose-



Options :

1. Honey, Jackfruit and meat
2. Milk, eggs and corn

3. Mustard, Fish and Meat

4. Milk, honey and eggs

Question Number : 65 Question Id : 8247248073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 8247248074 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following articles are made by a blacksmith?
Options :

1. Claypot, Bricks, Kulhad

2. Trowel, Sow, Axe

3. Ring, Saw, Bangle

4. Axe, Bricks, Bangle



Question Number : 66 Question Id : 8247248074 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 8247248075 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A mother has to choose indoor games to play with her daughter who is unable to go out of her

home because a of leg injury. She will choose -
Options :

1. Badminton, Chess, Ludo

2. Carromboard, Chess, Playing Cards

3. Tennis, Chess, Hopskotch

4. Hide and Seek, Hopskotch, Seven Tiles

Question Number : 67 Question Id : 8247248075 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 8247248076 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following group of states has a coast with Arabian sea?
Options:

1. Kerala, Andhra Pradesh, Gujarat

2. Kerala, Tamil Nadu, Maharashtra

3. Karnataka, Odisha, Maharashtra

4. Karnataka, Telangana, Gujarat

Question Number : 68 Question Id : 8247248076 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 8247248077 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Gregor Mendel is famous for his experiments with peas. Which of the following were his
observations regarding pea seeds of next generations if seed of the parent plants were green and

yellow?

Options:

1. All the plants were having seeds of mixed colour of yellow and green
2. More Plants were having yellow seeds

3. More Plants were having green seeds

4. More plants were having yellowish green seeds

Question Number : 69 Question Id : 8247248077 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 8247248078 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following substances dissolve in water?
Options:

1. Milk, Sugar, Honey

2. Turpentine, Lemon Juice, Petrol

3. Kerosene, Salt, Soap

4. Sugar, Vinegar, Salt

Question Number : 70 Question Id : 8247248078 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 8247248079 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The structure used traditionally to harvest rain water in our countryis ___.
Options :

1. Tubewell

2. Stepwell

3. Borewell

4. Handpump

Question Number : 71 Question Id : 8247248079 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 8247248080 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true for astronauts travelling in spaceship?
Options:

1. They drink water directly from water taps



2. They eat food sitting on dining table
3. They need to be strapped themselves to stay at a place

4. They sleep while standing and floating

Question Number : 72 Question Id : 8247248080 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 8247248081 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following players is a para-athelte who is a symbol of grit and determination.
Options:

1. Neeraj Chopra

2. Lovlina Borgohain

3. Sakshi Malik

4. Deepa Malik

Question Number : 73 Question Id : 8247248081 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 8247248082 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Nagarcoil express left Ahemdabad at 11:50 hrs on 23.11.2020. How long did the train take to travel

the distance?
Options:

1. 29 hours 35 minutes
2. 6 hours 55 minutes
3. 29 hours 05 minutes

4. 29 hours 55 minutes

Question Number : 74 Question Id : 8247248082 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 8247248083 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Harpreet went on a trip with family to Punjab, Bihar and Maharashtra and collected art work from

those states. Identify Harpreet's collection from options below-
Options :

1. Pattachitra, Kalamkari, Madhubani

2. Phoolkari, Kalamkari, Madhubani

3. Kalamkari, Pattachitra,Warli

4. Phoolkari, Madhubani, Warli

Question Number : 75 Question Id : 8247248083 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 8247248084 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A new boy from a different state joins your class, which predominantly has local students. You

want to use this as an opportunity to teach students about adaptation.

Which of these activities is BEST suited for the purpose?
Options :
1. Have the local students share with the new student the rules in their school.

2. Have a discussion in the class about different changes in the new student's life and how he

handled them.

3. Tell the class about how difficult it is for the new student to adjust and how they all should help
him.

4. Have the new student tell the class about rules in his old school and how they are different from

the new school rules.

Question Number : 76 Question Id : 8247248084 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 8247248085 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following features of a video conferencing app can be used to BEST demonstrate

how communication can be done without speaking?
Options:

1. Virtual background

2. Screenshare

3. GIF in the chat

4. Audio call

Question Number : 77 Question Id : 8247248085 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 8247248086 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following exercises MOST CLOSELY aligns with the constructivist approach ?
Options :

1. Using colour of the river to identify the presence of pollutants.

2. Looking at different bird beaks and drawing them

3. Using a graphic organizer to explain the differences between animals giving birth and laying
eggs.

4. Using a flowchart to explain the process of seed dispersal

Question Number : 78 Question Id : 8247248086 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 8247248087 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the BEST example of students engaging in active learning?

Options :

1. Students in pairs discuss the impact of decline of traditional crafts on the livelihoods of the
craftsmen.

2. Students draw the structure of a honeycomb from the textbook, after the teacher introduces

the topic.

3. In pairs, students list down the different colours of leaves that were mentioned in the EVS

textbook.

4. After completion of a lesson, students write the definitions of certain terminologies.

Question Number : 79 Question Id : 8247248087 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 8247248088 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What would be an 'authentic task' with respect to a lesson on availability of water?

Options :

1. Asking students to discuss with their families and make some habit changes to conserve water.

2. Asking students to create a miniature irrigation system that illustrates how farmers could use

water more efficiently.
3. Creating a sticker to be pasted across water sources which are not fit for drinking purpose.

4. Creating an indicator to test the purity of water supplied by the local municipal corporation.

Question Number : 80 Question Id : 8247248088 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 8247248089 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



You are teaching a chapter about the disabilities of deafness and dumbness and how to
communicate without speaking. A child asks, "We all can speak. So why are we studying this in

EVS?"

Which of the below responses BEST explains the scope of learning this chapter in EVS?

Options :

1. Some people are different from you all. They have the specific challenge where they cannot hear
or speak. You will need to understand why they are considered as differently abled.

2. All of us have different abilities and constraints. Some people have the specific challenge where
they cannot hear or speak. We need to understand how to communicate with them and be
inclusive.

3. Some people have the specific challenge where they cannot hear or speak. You need to be

careful and alert when you are interacting with them. This chapter will help you in such scenarios.

4. Some of you may want to become doctors when you grow up. Understanding various types of

problems and physical challenges is the first step towards that.

Question Number : 81 Question Id : 8247248089 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T TR AT T 61 SR AT T e e o7 o, B4 3 O G Wt 2 ] O re O 2,
9 G189 £ 71 79 0 T A W

FEATOATEa ¥ -1 3 ST 5 38 013 1 1 % 1S 31 9 g1 a0 )

Options :

gﬁﬁﬁm mmﬁﬁ{w%m%wa\jﬁ%aﬁ%g?mﬁmﬁwé 3| ST T2 TG 3 AT 2
1 T 3% femam o e 2

4t ST T Y SR AT T | 3 T 3 S 7 v 9 9 6 7 ] 9
. R 1 T € 1 706 A 0 e, o ST 3 o ot



T AT O AT 2 & 7 & 7 9131 7 | 9 A0 5 ] G o €1 4 AT e
e 1 TV 2] T A U UG SATUeR e B

mwﬁ@wagwmmww%lﬁﬁwm#mmmmﬁﬁﬁﬁmﬁmw
4, FRTEAFAD

Question Number : 82 Question Id : 8247248090 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(Uzaira and Shahmir are looking at different points on the globe.)

Shahmir: Look here is America, Africa. Hey, where is space?
Uzaira: The sky, stars, sun and moon, they are all in space.

Shahmir: Yes, I know. Sunita Williams went in a spaceship. I saw on TV that she could see the earth

from there.

Uzaira: Yes, from there the earth looked like this globe.

The above text is used to introduce the concept of space to students of grade 5.

Which of the below questions would help address Shahmir's question?

Options :

1. If you made cut-outs of the sun, moon and stars, where would you keep them?
2. If you had to go to space like Sunita Williams, how would you go?

3. Do you believe that space is empty or do you believe that it contains something?

4. How will you create a 3-D model of space using cardboard and fix it relative to the globe?



Question Number : 82 Question Id : 8247248090 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 8247248091 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For the topic 'dams built on river', which of these is a specific, measurable and attainable learning
objective?

Options :

1. Students will know how dams are built on rivers.

2. Students will list down the negative impacts that human settlements face when dams are built.

3. Students will exemplify the construction work undertaken for the foundation of a dam.



4, Students will help in advocating for local settlements when dams impact their lives.

Question Number : 83 Question Id : 8247248091 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 8247248092 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You have brought 15 chart papers to your classroom for students to use in their projects for an
upcoming exhibition. You have told students that the chart papers will not be replaced once

finished and they will have to use it wisely.

Which of the below activities would LEAST help students engage on the idea of using resources

judiciously that are in limited supply?

Options:

1. Discussing projects that do not need chart paper and how they can still be good options for the
science exhibition.

2. Conducting a poll on how many chart papers different students require and asking them to



compare this with number of chart papers available.
3. Brainstorming on ideas for reducing the use of chart paper in projects.

4. Asking students to write in a common register the quantity of chart paper they took each time,

when and why.

Question Number : 84 Question Id : 8247248092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 8247248093 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Experimentation allows us to provide conclusions that are specific.

Which of the following activities is MOST suitable for students to learn 'arriving at a specific



conclusion using experimentation'?

Options:

1. Finding out how different ear sizes affect hearing capability of animals .

2. Understanding the relation between temperature of the surrounding and evaporation of water.
3. Recording the number of days required for a seed to germinate into a seedling.

4. Analysing how skin colour of different animals help them camouflage in their surroundings.

Question Number : 85 Question Id : 8247248093 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 8247248094 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is MOST relevant as 'opening’, for introducing the topic of 'inherited and

acquired traits"?
Options :
1. Do you find any similarities between you and your parents?

2. How are you different from any other organism?



3. Do you know anyone who also likes your favourite movie?

4. Why are members of your family are not exactly similar to each other?

Question Number : 86 Question Id : 8247248094 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 8247248095 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Learning Objective: Students will be able to explain the effect of weeds on crops.

Which of the following assessment questions BEST tests for this learning objective?
Options :
1. What strategies can be taken so that crops and weeds can co-exist in a farmland?

2. Which fertilizers can provide the greatest benefit for the targeted crop while not allowing other

plants to grow?

3. What are the different types of farm implements that are used for removing the weeds from the



farmland?

4. What could be the reason for stunted growth in plants even after applying fertilisers?

Question Number : 87 Question Id : 8247248095 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 8247248096 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher uses an online resource that provides animated videos on natural disasters like

volcanoes, earthquakes, landslides etc.

For understanding which of the below can this tool be BEST used (compared to textbooks and

other sources)?
Options :
1. Effect of these events on people's lives

2. Factors leading to these phenomena



3. Which natural disasters occurred in the past

4. Measures to avoid natural disasters

Question Number : 88 Question Id : 8247248096 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 8247248097 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The teacher wants to teach the concept of food preservation. Which of the following food items is

best suited to teach this concept?
Options :

1.Jam

2. Curd

3. Ghee

4. Papad



Question Number : 89 Question Id : 8247248097 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 8247248098 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mr. Debojyoti is teaching the idea of interdependence of things in the environment, using

examples from the community.

Which of the following examples is BEST suited to teach the concept ?
Options :

1. A post office

2. An abandoned building

3. A grocery store

4. A sewage drain

Question Number : 90 Question Id : 8247248098 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

gﬁmﬁwﬁmmmmww TR & =11 307 AT 125 37 e o ) 2|
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Options :
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Language I
Section Id : 824724231
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724439
Question Shuffling Allowed : Yes

Question Id : 8247248099 Question Type : COMPREHENSION Sub Question Shuffling Allowed :



Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension

Directions: Read the passage given below and answer the
questions by choosing the correct/most appropriate options:

1. Freedom loving people of tribal community had rejected
foreign powers from the very beginning. In 1857, when the
spark of the freedom struggle reached Central India, the
Bheel-Bhilala Nayaks of Malwa-Nimar tribe stood against
the oppression. Among these heroes, Tantya Bheel,
Bheema Nayak, Khajya Nayak, Sitaram Kanwar and
Raghunath Singh Mandloi created a glorious history of
struggle. During the freedom struggle of 1857, the network
of revolutionaries was all over Malwa and Nimar. The
chain system of tribal revolutionaries was amazing. As
soon as one hero was sacrificed, the other hero used to take
the front so that the revolution would go on un-interrupted.

2. Among the Bheel Jannayaks, Tantya Bheel was a
legendary figure known for his bravery and might. Tantya
Bheel was born around 1842. At the age of 16, he became a
revolutionary and a social crusader. People in distress used
to call him Tantya Mama. He liberated the oppressed from
the clutches of the British sycophants, money lenders and
fought continuously with the British to become a people’s
warrior. Tantya Mama also provided shelter to hundreds of
freedom fighters who sought refuge in the forests. On
September 15, 1857, he met Tantya Tope, the great hero of
freedom struggle. He received training in gorilla warfare
from Tantya Tope. The sole purpose of Tantya Mama’s life
was to punish the exploiters and give every person their
due. The British were stunned by Tantya’s bravery. Even a
police brigade was established to catch him, but the British
army could not reach him. The British eventually resorted
to deceit, force and Man Singh created a history of
betrayal. Tantya Mama, the messiah of the poor people,
who supported the exploited and fought the exploiters, was
hanged on December 4, 1889.

Sub questions

Question Number : 91 Question Id : 8247248100 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following expressions best describes the
Bheel Bilala Nayaks of Malwa-Nimar tribe?

Aggressive
Headstrong
Freedom loving
Obdurate

s bl o

il

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247248101 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The author calls the chain system of tribal revolutionaries
amazing because

1. all the members of the chain were equipped with

lethal weapons.

it had the moral and material support of all sections

of the society.

3. as soon as one revolutionary lost his life another
revolutionary took his place.

4. the members of this group attacked the British at
several places simultaneously.

)

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247248102 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Select the correct option.

Tantya Mama was a close relative of Tantya Tope.
Tantya Tope was Tantya Mama’s childhood friend.
Tantya Tope was Tantya Mama’s spiritual guru.
Tantya Tope trained Tantya Mama in gorilla warfare.

SRl e

o

Options :
1.1
2.2
3.3

4.4

Question Number : 94 Question Id : 8247248103 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not true according to the text?

1. Man Singh’s betrayal did Tantya Mama in.

2. The British announced a prize on Tantya Mama’s
head.

3. The British set up a police brigade to catch Tantya
Mama.

4. The British resorted to deceit and force to arrest
Tantya Mama.

Options :
1.1
2.2
3.3

4.4

Question Number : 95 Question Id : 8247248104 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Tantya Mama was called people’s warrior because he

helped the poor tribals financially.
wanted to improve the lot of the tribals.
was kind and compassionate to the poor.
fought against tribals’ oppressors.

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247248105 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words means the same as the word
‘legendary’ as used in para 2 of the passage?

great
magnanimous
famous
honourable

e oo

i

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247248106 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words is most opposite in meaning
to the word “bravery’ as used in para 2 of the passage?

cowardice
deceit
backbiting
sycophancy

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247248107 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence?

Tantya Mama was the messiah of the oppressed
tribals.

Pronoun
Adjective
Noun
Adverb

il il

B

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247248108 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the following sentence contains an error?

He asked his friend why he has refused
(a) (b)
such a lucrative offer
(c) (d)

(b)
. (c)
. (d)
. (a)

L [ =

I

Options :
1.1
2.2
3.3

4.4

Question Id : 8247248099 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the passage given below and answer the
questions by choosing the correct/most appropriate options:

1. Freedom loving people of tribal community had rejected
foreign powers from the very beginning. In 1857, when the
spark of the freedom struggle reached Central India, the
Bheel-Bhilala Nayaks of Malwa-Nimar tribe stood against
the oppression. Among these heroes, Tantya Bheel,
Bheema Nayak, Khajya Nayak, Sitaram Kanwar and
Raghunath Singh Mandloi created a glorious history of
struggle. During the freedom struggle of 1857, the network
of revolutionaries was all over Malwa and Nimar. The
chain system of tribal revolutionaries was amazing. As
soon as one hero was sacrificed, the other hero used to take
the front so that the revolution would go on un-interrupted.

2. Among the Bheel Jannayaks, Tantya Bheel was a
legendary figure known for his bravery and might. Tantya
Bheel was born around 1842. At the age of 16, he became a
revolutionary and a social crusader. People in distress used
to call him Tantya Mama. He liberated the oppressed from
the clutches of the British sycophants, money lenders and
fought continuously with the British to become a people’s
warrior. Tantya Mama also provided shelter to hundreds of
freedom fighters who sought refuge in the forests. On
September 15, 1857, he met Tantya Tope, the great hero of
freedom struggle. He received training in gorilla warfare
from Tantya Tope. The sole purpose of Tantya Mama’s life
was to punish the exploiters and give every person their
due. The British were stunned by Tantya’s bravery. Even a
police brigade was established to catch him, but the British
army could not reach him. The British eventually resorted
to deceit, force and Man Singh created a history of
betrayal. Tantya Mama, the messiah of the poor people,
who supported the exploited and fought the exploiters, was
hanged on December 4, 1889.

Sub questions

Question Number : 91 Question Id : 8247248100 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following expressions best describes the
Bheel Bilala Nayaks of Malwa-Nimar tribe?

Aggressive
Headstrong
Freedom loving
Obdurate

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247248101 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The author calls the chain system of tribal revolutionaries
amazing because

1. all the members of the chain were equipped with
lethal weapons.
it had the moral and material support of all sections

of the society.

3. as soon as one revolutionary lost his life another
revolutionary took his place.

4. the members of this group attacked the British at
several places simultaneously.

)

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247248102 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Select the correct option.

Tantya Mama was a close relative of Tantya Tope.
Tantya Tope was Tantya Mama’s childhood friend.
Tantva Tope was Tantya Mama’s spiritual guru.
Tantya Tope trained Tantya Mama in gorilla warfare.

bl e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 8247248103 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not true according to the text?

1. Man Singh’s betrayal did Tantya Mama in.

2. The British announced a prize on Tantya Mama’s

head.

The British set up a police brigade to catch Tantya

Mama.

4. The British resorted to deceit and force to arrest
Tantya Mama.

L]

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247248104 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Tantya Mama was called people’s warrior because he

helped the poor tribals financially.
wanted to improve the lot of the tribals.
was kind and compassionate to the poor.
fought against tribals’ oppressors.

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247248105 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words means the same as the word
‘legendary’ as used in para 2 of the passage?

great
magnanimous
famous
honourable

e oo

i

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247248106 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words is most opposite in meaning
to the word “bravery’ as used in para 2 of the passage?

cowardice
deceit
backbiting
sycophancy

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247248107 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence?

Tantya Mama was the messiah of the oppressed
tribals.

Pronoun
Adjective
Noun
Adverb

il il

B

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247248108 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the following sentence contains an error?

He asked his friend why he has refused
(a) (b)
such a lucrative offer
(c) (d)

(b)
. (c)
. (d)
. (a)

L [ =

I

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 824724440

Question Shuffling Allowed : Yes

Question Id : 8247248109 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Directions: Read the extract given below and answer the questions by
choosing the correct/most appropriate options:

I wandered lonely as a cloud

That floats on high o’ver vales and hills,
When all at once I saw a crowd.

A host, of golden daffodils;

Beside the lake, beneath the trees,
Fluttering and dancing in the breeze.

Continuous as the stars that shine

And twinkle on the milky way,

They stretched in never-ending line
Along the margin of a bay:

Ten thousand saw I at a glance,
Tossing their heads in sprightly dance.

The waves beside them danced; but they
Out-did the sparkling waves in glee:

A poet could not but be gay,

In such a jocund company:

I gazed — and gazed — but little thought
What wealth the show to me had brought:

Sub questions

Question Number : 100 Question Id : 8247248110 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The cloud in the opening lines of the poem is described as
drifting over

vales and rivers.
hills and towns.
vales and plains.
vales and hills.

W

s

Options :
1.1
2.2
3.3
4.4



Question Number : 101 Question Id : 8247248111 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not true according to the extract?
The poet spotted the golden daffodils

along the margin of a bay.
beside the lake.

near the foothills.

beneath the trees.

e oo

i

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247248112 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet gazed at the daffodils when

1. they stretched in never-ending line.

2. they provided him with immense joy.

3. their sheer number was overwhelming.

4. they were tossing their heads in sprightly dance.

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247248113 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The poem is about

clouds drifting over hills and vallies.

the impact of the beauty of the daffodils on the poet.
the glorious spectacle of the golden daffodils dancing
in the breeze.

4. the sparkling waves dancing with glee.

e tel e

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247248114 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify and name the figure of speech used in “I wandered
lonely as a cloud” in the first line of the extract.

Personification
Metaphor
Simile
Metonymy

W -

i

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247248115 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Identify and name the figure of speech used in lines 4 to 6
of the extract.

Simile
Metonymy
Personification
Assonance

W -

P

Options :
1.1
2.2
3.3
4.4

Question Id : 8247248109 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Directions: Read the extract given below and answer the questions by
choosing the correct/most appropriate options:

I wandered lonely as a cloud

That floats on high o’ver vales and hills,
When all at once I saw a crowd.

A host, of golden daffodils;

Beside the lake, beneath the trees,
Fluttering and dancing in the breeze.

Continuous as the stars that shine

And twinkle on the milky way,

They stretched in never-ending line
Along the margin of a bay:

Ten thousand saw I at a glance,
Tossing their heads in sprightly dance.

The waves beside them danced; but they
Out-did the sparkling waves in glee:

A poet could not but be gay,

In such a jocund company:

I gazed — and gazed — but little thought
What wealth the show to me had brought:

Sub questions



Question Number : 100 Question Id : 8247248110 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The cloud in the opening lines of the poem is described as
drifting over

1. wvales and rivers.
2. hills and towns.
3. wvales and plains.
4. wvales and hills.

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 8247248111 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not true according to the extract?
The poet spotted the golden daffodils

along the margin of a bay.
beside the lake.

near the foothills.

beneath the trees.

o bl o

g

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247248112 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The poet gazed at the daffodils when

1. they stretched in never-ending line.

2. they provided him with immense joy.

3. their sheer number was overwhelming.

4. they were tossing their heads in sprightly dance.

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247248113 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poem is about

clouds drifting over hills and vallies.

the impact of the beauty of the daffodils on the poet.
the glorious spectacle of the golden daffodils dancing
in the breeze.

4. the sparkling waves dancing with glee.

Lot e

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247248114 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Identify and name the figure of speech used in ““I wandered
lonely as a cloud” in the first line of the extract.

Personification
Metaphor
Simile
Metonymy

i e

P

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247248115 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify and name the figure of speech used in lines 4 to 6
of the extract.

Simile
Metonymy
Personification
Assonance

W -

i

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724441

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 8247248116 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A learner shows her reading ability by a crifical appreciation of an unseen text that is one stage above her cognitive
level.
This resonates with

. Comprehensible Input

. Comprehensible Output
. Monitor Hypothesis

. Natural Order

2 —

e T

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 8247248116 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner shows her reading ability by a critical appreciation of an unseen text that is one stage above her cognitive
level.
This resonates with

. Comprehensible Input

. Comprehensible Output
. Monitor Hypothesis

. Natural Order

g

i S ]

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247248117 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The subconscious acceptance of knowledge where information is stored in the brain through the use of communication
is known as Language

1. Learning

2. Development
3. Acquisition
4. Function

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247248117 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The subconscious acceptance of knowledge where information is stored in the brain through the use of communication
is known as Language

1. Learning

2. Development
3. Acquisition
4. Function

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247248118 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one is not a component of language?

Sound
Form
Meaning
Reading

it s o

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247248118 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one is not a component of language?

Sound
Form
Meaning
Reading

i

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247248119 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which method emphases more on spoken than written language?

Audio lingual Method
Grammar Translation Method
Structural Approach
Deductive Method

it s o



Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247248119 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which method emphases more on spoken than written language?

1. Audio lingual Method

2. Grammar Translation Method
3. Structural Approach

4. Deductive Method

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 8247248120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In which method teacher should be aware about all method?

1. Grammar translation method
2. Direct method

3. Activity based learning

4. Eclecticism

Options :
1.1
2.2
3.3



4.4

Question Number : 110 Question Id : 8247248120 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In which method teacher should be aware about all method?

1. Grammar translation method
2. Direct method

3. Activity based learning

4. Eclecticism

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247248121 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Giving a cursory glance over the headlines of a newspaper is.........

intensive reading
scanning
extensive reading
skimming

N

Options:
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247248121 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Giving a cursory glance over the headlines of a newspaper is.........

intensive reading
scanning
extensive reading
skimming

N

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247248122 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one is not a characteristics of writing?

presenting an oral report
good organization

clear purpose
grammatical accuracy

B

e

Options:
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247248122 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one is not a characteristics of writing?

presenting an oral report
good organization

clear purpose
grammatical accuracy

it s o

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247248123 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Following this principle helps children learn abstract words and encourages children to recognize how words link to
categories.

. Children need to hear diverse examples of words and language structures

. Vocabulary and grammatical development are reciprocal processes

3. Children learn words best in meaningful contexts

4. Interactive and responsive rather than passive contexts promote language learning

bed

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247248123 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Following this principle helps children learn abstract words and encourages children to recognize how words link to
categories.

1. Children need to hear diverse examples of words and language structures

2. Vocabulary and grammatical development are reciprocal processes

3. Children learn words best in meaningful contexts

4, Interactive and responsive rather than passive contexts promote language learning

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247248124 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach aims to create the communicative competence in the students?

Structural approach
Constructivism approach
Communicative approach
Skill based approach

AW

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247248124 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which approach aims to create the communicative competence in the students?

Structural approach
Constructivism approach
Communicative approach
Skill based approach

BoW N

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247248125 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Authentic Assessment is a/an

standardized testing that uses questions with a limited number of answer choices.

approach to measure student performance in a direct, relevant way to see if the learning objectives were mef.
assessment of participants where the focus is on the outcome of a program.

evaluation of student learning at the end of an instructional unit by comparing it against a benchmark

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247248125 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Authentic Assessment is a/an

standardized testing that uses questions with a limited number of answer choices.

approach to measure student performance in a direct, relevant way to see if the learning objectives were met.
assessment of participants where the focus is on the outcome of a program.

evaluation of student learning at the end of an instructional unit by comparing it against a benchmark



Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247248126 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Formative assessment

makes judgements of the learner's skills in a specific period of time.
focuses on the learner's process.

has more recognition in educative institutes.

correcting the students immediately as they commit mistake/errors.

it s o

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247248126 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Formative assessment

makes judgements of the learner's skills in a specific period of time.
focuses on the learner's process.

has more recognition in educative institutes.

correcting the students immediately as they commit mistake/errors.

i

Options :
1.1
2.2
3.3



4.4

Question Number : 117 Question Id : 8247248127 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A key benefit of free writing is that learners

do not feel that they have to write much or be totally accurate.

can incorporate features of written language from their first language.
have the freedom to be creative.

4. have the freedom to write or not.

L

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247248127 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A key benefit of free writing is that learners

do not feel that they have to write much or be totally accurate.

can incorporate features of written language from their first language.
have the freedom to be creative.

4. have the freedom to write or not.

L

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247248128 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

During which stage children begin producing varied syllable combination such as, ba-da-da-da.

1. Cooing stage

2. The one-word stage
3. Telegraphic speech
4

. Babbling stage
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247248128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

During which stage children begin producing varied syllable combination such as, ba-da-da-da.

1. Cooing stage

2. The one-word stage
3. Telegraphic speech
4

. Babbling stage
Options:
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247248129 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The specific learning problem of a learner in a language subject area can be identified by

1. Achievement test
2. Diagnostic test
3. Summative teat
4. Written test

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247248129 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The specific learning problem of a learner in a language subject area can be identified by

1. Achievement test
2. Diagnostic test
3. Summative teat
. Written test

=,

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247248130 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is the most important factor in language acquisition of L1?

Teacher

school

nature of exposure
identity and motivation

L b =

:I_"L.



Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247248130 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is the most important factor in language acquisition of L1?

1. Teacher

2. school

3. nature of exposure

4. identity and motivation
Options :
1.1
2.2
3.3
4.4

Language II

Section Id : 824724232
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Sub-Section Number : 1
Sub-Section Id : 824724442

Question Shuffling Allowed : Yes

Question Id : 8247248131 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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TRMTETEEied FT=aqaveay m?mﬂﬁwﬁ | FEIE O
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Sub questions

Question Number : 121 Question Id : 8247248132 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TEee: g AT 2

, drﬂ:c_!??r: T

|
B Y [
2. IHAFAATL: qure.

3
4. THETE: TSI
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 8247248133 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

% e UM i-lrtﬂrﬂhcmuldﬁgiewwf: FTH 2
I & FEISHAF

. | E0T: IE

3. 'HT%U?\':ETW\

4. 'HT%WE‘:FW T

[

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247248134 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T T TEd: 7 ST 2

i

3
4. FHAH:
Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 8247248135 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TEETAT T 0T Sk o SRR ST ©
| =T
2. T
3.
4. TR
Options :
1.1
2.2

3.3
4.4

Question Number : 125 Question Id : 8247248136 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



“qeTe T 3&%-1&31%%@%53%@%: T Eh—i
ST -

|. Tty
TR

bt

. HOEHHUH

=,

3
4, eI
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 8247248137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T ey g e S 2
l.

[

firg
fg

3. T

4. forg

Options :

1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 8247248138 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 8247248139 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*31-1@@‘31-«-1?‘34—1—@%51’: qHH: ?
2. ?&‘HT\"J
3. o AT
4. FTIE:

Options :

1.1

2.2

3.3

4.4

Question Id : 8247248131 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



fereRe ferear 2o -
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| TTE- <qeq! TEH FARHT T AT Jrg, 19 | 79 74T TA
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TRHTEUEENes FeagaeTealy JIHaEar T ST | a7
UY FILERIET 788 & o T |

Sub questions

Question Number : 121 Question Id : 8247248132 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
HECE: ThIge SATHI 2

| TAETgAT: FEEE

2, aqqm?rft g

3
4, qq-:t:w%: Cas Tt
L=9 = -

Options :
1.1
2.2
3.3
4.4



Question Number : 122 Question Id : 8247248133 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T HRO Hee T, SATaTe g, STad: STfT 2
| | FEISHE

. | E0T: AT

3. HT%WW\

4. Hﬁwwm

[-J

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247248134 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T A TE: F: AT 2

. HUSF:

B,

. Ao

[

3
4. FANF:

w3
Options:
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 8247248135 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

TeETAT 7 HE0T Sk 1o T ST 2
I, aTeEEs
N

2. TMH
3.
4. FTEY
Options:
1.1
2.2

3.3
4.4

Question Number : 125 Question Id : 8247248136 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“qeTe T 3&%-1&3151‘%@%%%@%: m“n‘ran—é
| HeegteE

. HeeIEIH

b

. HeRHEHUH

=,

3
4. ORIEHTT

=,

-3

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 8247248137 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



S

e

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 8247248138 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

- g . m ;
AT AT U= & “hd” T Ad: ?
1. =g

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 8247248139 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Wﬁ%mﬁﬁ qq4: ?
2. FHUT:
5, oL
4. FATATIS:

Options :

=
-,

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 824724443

Question Shuffling Allowed : Yes

Question Id : 8247248140 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 8247248141 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TUTETE 1S Y: 2

SAHIH:

3. W?wﬁa_?a

4. JIde:

R

Options :

1.1



2.2
3.3
4.4

Question Number : 130 Question Id : 8247248142 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

r [ ™
T : ShRIH HeqdTa ¥ 7

|, ST} AUeATH
2. HUEH-SATEATH
3. HEF-STUTH
4. TSI

Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 8247248143 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT G ] E@jz@ﬁﬁéﬁ?
1. IR

Options :
1.1
2.2
3.3
4.4



Question Number : 132 Question Id : 8247248144 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

:i-,tuu-wj: & fr=sfa =12
. g

. JERTETH:

3. d@ENq

4. FEtaEg

Options :

[

1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 8247248145 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3
4. IrFETIHT T qq
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 8247248146 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FA T I8 F: THR: T 2

. &g
2. T
R,
4. fafuferg
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 8247248147 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TEATET: 09 %: T IES

[
i. ] be

e

GIEE

w2

3. a3
4. T

Options :

[

1.1
2.2
3.3
4.4

Question Id : 8247248140 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension



eATcTRad TeTeTg AT THT AT LT foshed feea & |
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Ve | TaEdl e e T SEges Y Tl Sg:
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ST TR ST o Tt o hiek T 3 | T Feuae qe |
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TRfoaet: NI AEeawdld aeq G e HeaRIS = ge Sere
ETR R T ThIETEHTHI STeshiel e |
7Y T AT T AHRAICT TR e | T et
Y T T TEAenel: Feaad: | FehT AT FUhieL

TohTohe e EAaiedar | o7 AESgeuTed Jemmel aq
FITHIAFAT AEEUEY: TARTHATRAB | qaed eNSTanu
TeaT FAHIET AT T TaT: | TEHEEIdT 1 7a: WEes
IE:| TAISE T - <wwrEm & =i 3 | o= feefew
FTEHATETEAA A |

Sub questions

Question Number : 129 Question Id : 8247248141 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TUTETE 1S Y: 2

SAHIH:

3. W?wﬁa_?a

4. JIde:

R

Options :

1.1



2.2
3.3
4.4

Question Number : 130 Question Id : 8247248142 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

r [ ™
T : ShRIH HeqdTa ¥ 7

|, ST} AUeATH
2. HUEH-SATEATH
3. HEF-STUTH
4. TSI

Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 8247248143 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT G ] E@jz@ﬁﬁéﬁ?
1. IR

Options :
1.1
2.2
3.3
4.4



Question Number : 132 Question Id : 8247248144 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

:i-,tuu-wj: & fr=sfa =12
. g

. JERTETH:

3. d@ENq

4. FEtaEg

Options :

[

1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 8247248145 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3
4. IrFETIHT T qq
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 8247248146 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FA T I8 F: THR: T 2

. &g
2. T
R,
4. fafuferg
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 8247248147 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TEATET: 09 %: T IES

e

GIEE

w2

3. a3
4. FTTEVE:

Options :

-

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724444

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 8247248148 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST T (comprehensible input ) TS -
|. AT ST SEAHETEAT T W Sea WiadeT |
2. WTST TTAT: T&T L FATT T&T o SAIH: BT T I A1 |
3. BE: ‘Hﬁﬂmﬁﬁwhﬁgﬂ M#Imﬂtzﬂrﬂdiﬂﬁldcﬁt: [

4. DT TG TR q-ng: TRIIEeT: |
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 8247248148 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FFATAIIT (comprehensible input ) FATST -
|. W ST TERHATEAT S eSS WiadedT |
2. WTST BTT: T & FaA(-d J&T o ST TI: T8 T 311+ |
3. T T e wan—hﬂ:?ﬁmmﬂﬁmwt [
4. TP T TEEE Fq SHEae: |

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 8247248149 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



1. TST-SATRrEo
W-m:

HTHT-SFe4qT9H,

[-J

du

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 8247248149 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
W'I%F&UIH ST BT FLT -

1. TST. SR
2. HTST-STERT:
3. reT-feTem

HIGT-ST=HTITH

e

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 8247248150 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



E. W:a%:m:
2. T Wi STAtEET
3. HEMTF: TR
4. STETOT RO

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 8247248150 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

wTaTTRreA Ry R wams i 2
1. WTSTET: 97 T59:

2. Tt sratewE

3. WEEEF: T

4. AT RO

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 8247248151 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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|. 939 R o
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du

Options :
1.1
2.2
3.3

4.4

Question Number : 139 Question Id : 8247248151 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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|. U399 @ T

HTTUT WTOT =

. AT SET T
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Options :
1.1
2.2
3.3

4.4

Question Number : 140 Question Id : 8247248152 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR, T DT THE ST T, i 2
|. TeetoeeeRTs
5, t—i*:ﬂ-urqahu?r
4. FEITUTERERTE

Options :

1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 8247248152 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

| ]

TR T B FATHEH AT T A, A1 2
| i RN i
1. THHIOMCH=RT&
3. HTEATHFTE
4. TEISUTEREIS
Options :

1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 8247248153 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 8247248153 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 8247248154 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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I ﬁ:@?
T
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Options :

-2

N N

1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 8247248154 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T2 SR ST 91 (AT, STAERd SFUa e T AT Wit e -
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HT

. Toreg

GEZHIEE (logic)

Options :

-2

S N ]

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247248155 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST Ty -
|. T TSEaeTq

™ [
2. EEICIELES Y
3. F: UTSEeT:

™
4. T YIS dedgH
3 -

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247248155 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SIS e -
|. T uTsfeay

. .
: I'-‘l"JHh‘-Ht'_‘:I'LIdGﬁH‘\
3. o U‘IB"&IFIEJ

Options :

[

=Y

1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 8247248156 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



WTHTAT: ST, AT, TE TR, T, EW, THATET: T -
1. fafer:
2. 9dr:
3. ST
4. TS

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 8247248156 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

EIEIEIE BT'E*'-HH:I. mﬁ-i-m:,ti%%ml:. HHET: Er%i\mﬂ-lh, sAGY: EFE‘Q-T-F
|. Tafer:
2. q&r:
3. AT
4. FISET
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 8247248157 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



pot o (summative ) HATEHH -

-y,

|. ST ST IrEaTT HOE T |
2. BEH mﬁ%ﬁlﬁml-—iwj—ldm t

3. Frererry amATTRR W e
4. 37reres FToTTeSeR YT W@ﬁlﬁgﬂﬁé‘sﬂmﬁl
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 8247248157 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
HafeRd (summative ) TATSF -

-,

|. TS B IR WS w0 |

2. BT TGS Shiesas Had |
3. Frareriy SR e R |
Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247248158 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



- - -
|. UTEAUEAhcA@d J TdhedT |
2. TEIA-3THUA Qﬁﬂl%?bﬁlrbcﬂll

; ulgﬁimw}@; TYUTIER. TR |

3
™ O i S e = =

4. UTATETRAET MAHTRI0T TFThedT |
Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247248158 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1. UTATEAFRAET T HIhedT |
"
2. FEIAH-ETIA Hﬁﬁlﬂ?bﬂlmcﬁl |

3. UTEATEHCET FUEE T he |
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 8247248159 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST AT =aa: T -
|. Tt
2, ‘Hﬁﬁﬂﬂ{integrate}
3. Jufddea
4. JUF e
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 8247248159 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST VTSI =rae: JraaT: -
1. TeetaeT:
2. Hﬁﬁﬁﬂ{integrate}
3. SUTeTAeaT
4. qYH FHAT
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247248160 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



. fE=qere o=
2. BIEIT-EEITHTHET 95
. T3 Frator mer

3
4. S-STEIEOT T

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247248160 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A AT ST T T AATEA TS Fal e 2
1. T3 =rram 7=

. FTET-SAETETHTEN] He

. T5-Prastort 7=

. US-STTINON Fe

I3

e L2

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 8247248161 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TaT FHI4G AT TTE0T ST, SATE] HTATTHI T FT, 38 FT -
|, ST 93T

AT

3. TE-STET,

4. ﬁﬁmuﬁw

Options :

-3

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 8247248161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Wﬁ&ﬁwm: %Hﬁfmmﬁiwdwwﬁ T 0, T8 2T -
. HETHTee 93y
FEHAT-GLET
3. HHE-STHUTH

4. ﬁaﬁmuﬁw

Options :

| )

1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 8247248162 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TS ST %E'W:,(-il{’ﬂ—ﬂ:*Wlﬂﬂ:W-TﬂW%IW:W%WWWH
|, T = A |

. TST AT T A |

3. T ST 7 |

4. TST STTATATTST WaTe |

-2

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 8247248162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T ST ST, T TSR W-Tﬂwﬁf | Wzsﬁ%ﬁﬂﬂ'ﬁhﬁfﬁn
1. WTST Tt e |
. 9T AT o S |
3. TST ST A7 |

oo

4. WTST ST TeTeT Ware |

| ]

Options :
1.1
2.2
3.3
4.4



